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Expand the following
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Solve for X. Give EXACT answers.
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Solve for x. Give EXACT answers
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ind the zeros of each functions by factorlng

=24 [ +2Z 326 o QK)=X-l0x-|
O =3x | Ix+2s éo =X - (0x-
0 3 sl 22 0= X (xiex- |
O=3x (x+2)+11(x+2) 0= X(x -ﬂ)+\(x-ll)

0= (x23en) D~ (X—l le)

What constant must be added to the
polynomial to make it a perfect square7
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Write the following in vertex form by completing
the square.

1. £0x)"X"-8x-8

()= (= 8x+16)-l6 -8
B L) §
If00)=6-47-24)

Write the following in vertex form by completing
the square.
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Write the following in vertex form by completing
the square.

51 £x) 2x % *2x x b
c00)= (2x 7 fx )+ b

N
527800 2% x4 18 1,
‘f‘% I8;

E‘ (¥)= 2(>(1-}>2,a

22. Write a quadratic function given the zeros
of -11 and 3
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23. Write a quadratic function given the zeros
of -4 and -7

-y X7
>§_( Y A7) 47

(x+4fo (*1)=0
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X+ 7x ey 1283
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24. Given f(x) = 2(x-3)2 -5
a. Write the vertex
(27 / ’6 )
b. Write the equation for the axis of symmetry
c. Describe any transformations
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25. The length of a rectangular plot of land is 6 miles less
than its width. If the area of the rectangle is 135 square
miles, what are the dimensions of the land?

/(ovv \”75
w-b W 75 - 129

\=-135=135 ~@w -[%9 =0
4*—\8-62570‘ 1 B dnBw-135 =0

_ +0\) -0
BT W (o) -15(w2
| (e °

w-1S =0
WM O S xS

&

mu 4 Sub4r.
26. TheJproduct of numbers who have aldifference]of five is
84. Write an equation and use factoring to find the two
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